C=R+:R

e| diff
Cc =R.T
THise = Te e = Te (¢ + is)
2min
K = %nl =
er (e) = 2im Ton
t=r+is€ Ker (¢)=>1=" _= te =M = e = p =0
. . 1="% .
lzlsezsc—l—zss;"{ = 5 = 20nw
0="
ne€z
1=
iL R abel
e =1id
L — iL
L L
R NG
e
iR% R abel
e =1id
R pr— d

1R 1R



L o_dd’ 4l d
' (27r)d 2 2n
= d
d ™ =TNR
1R ° R o NR
7 :
L d 141
b o—dl'dl” € R, R
L -0
R - ™ &
. i :
L e2rd log M 4 M
. =
iQ, 0 d@p

5 .
L e2mitr,l 1 41



1R

e| diff

Td

1S

e = Ye =" +1i’

o
Ker (e) = 2irz" = “T

7' e
is € Ker (¢) = 1= "¢ =5 +i% = 1= "5
0= "% = s=2inm

d
neE€ 7



